
Division with Remainder 
1. Divide to find the quotient and remainder. 

a.       b. 

 

 

 

 

 

 

c.        d. 

 

 

 

 

 

 

e.        f. 

 

 

 

  

 

 

 

  

2 11 4 29 

Quotient is ______ 

Remainder is ______ 

Quotient is ______ 

Remainder is ______ 

5 526 4 85 

Quotient is ______ 

Remainder is ______ 

Quotient is ______ 

Remainder is ______ 

7 936 3 47 

Quotient is ______ 

Remainder is ______ 

Quotient is ______ 

Remainder is ______ 



g.       h.   

 

 

 

 

 

 

 

i.        j.       
  

 

 

 

 

 
k.       l.  

  

2 27 6 337 

Quotient is ______ 

Remainder is ______ 

Quotient is ______ 

Remainder is ______ 

  8 469 

Quotient is ______ 

Remainder is ______ 

  5 89 

Quotient is ______ 

Remainder is ______ 

  6 13 

Quotient is ______ 

Remainder is ______ 

  3 107 

Quotient is ______ 

Remainder is ______ 




